

Q

②

$$\frac{a}{f} + 1s. \quad \boxed{as-f}$$

$$f+y \leq \frac{S_{XY}}{f} \rightarrow \boxed{f}$$

F

$\cdot / \Delta$

$$-n^2 + 4n + 1 \leq \frac{n+5}{2} \quad (-\infty, n+1)$$

$$y = f(x) \Rightarrow x = f^{-1}(y)$$

$$a > 0 \Rightarrow x \mapsto ax \mapsto f(x) \Rightarrow f^{-1}(x) = \frac{1}{a}x$$

$$D_{f^{-1}} = \mathbb{R}$$

$$a < 0 \Rightarrow x \mapsto ax \mapsto f(x) \Rightarrow f^{-1}(x) = -\frac{1}{a}x$$

$$D_{f^{-1}} = (-\infty, 0]$$

$$y = \frac{1}{a}x + \left| \frac{1}{a} \right| x$$

$$\frac{1}{a}x + \frac{1}{a}x = \frac{2}{a}x$$

$$f^{-1}(x) = \begin{cases} \frac{x}{2} & x \geq 0 \\ \frac{x}{2} & x < 0 \end{cases}$$

$$\rightarrow f^{-1}(x) = \frac{x}{2} - \frac{1}{2}|x|$$

$$a_b = -\frac{1}{2}$$

نکته: دقت کنید از منتهی کلمات

به با مقبول است!

LV0

6

$$f(x) = \frac{x+f}{x+m} = 1 \Rightarrow \boxed{m=x} \quad y = \frac{mx+f}{m-x}$$

$$f \circ f^{-1}(x) = x$$

$$\Rightarrow y = x + f^{-1}(x) = x \Rightarrow f^{-1}(x) = 0 \Rightarrow x = f(0) = \frac{f}{-f}$$

2

7

$$x \mapsto x \quad g\left(\frac{x}{r}\right) = g(x) \Rightarrow x = f(r - f(x)) \Rightarrow g(x)$$

ts

$$f(r - x) = t \Rightarrow f^{-1}(t) = r - x \Rightarrow x = r - \frac{f^{-1}(t)}{r}$$

$$g\left(\frac{x}{r}\right) = t + r \Rightarrow g^{-1}(x - t) = \frac{x}{r} \Rightarrow x = r g^{-1}(x - t)$$

$$f^{-1}(-r) + g^{-1}(t) = (r)$$

0 < -r

0

8

$$f(x) = \frac{x(n-r) - r}{1-(n-r)} = \frac{x(n-r) - r}{r-n} = \frac{x(n-r) - r}{r-n} = \frac{x(n-r) - r}{r-n} = \frac{x(n-r) - r}{r-n}$$

$$-y = \frac{-x(n-r) - r}{n+1} \Rightarrow y = \frac{x(n-r) + r}{n+1} \Rightarrow \frac{x(n-r) + r}{n+1} = \frac{x(n-r) + r}{n+1} \Rightarrow -r$$

$$\frac{r(n+4)}{n+1} = f(x), f^{-1}(x) = \frac{n+4}{n-r} \Rightarrow f(x) = f^{-1}(x) \Rightarrow x^2 - (n-4)x = 0 \quad \text{SdC}$$

1/2

9

$$f^{-1}(x) = y \quad f(x) = a + f(x) \Rightarrow [a + f(x)] = [y] \Rightarrow [y] = [a] + [f(x)] = [a] + [x] \Rightarrow \frac{1}{a}[y] = [x] \Rightarrow$$

$$\frac{1}{a}[y] = y - a \Rightarrow a = \frac{y - \frac{1}{a}[y]}{1 - \frac{1}{a}} \Rightarrow a = \frac{y - \frac{1}{a}[y]}{1 - \frac{1}{a}} \Rightarrow y = g(x)$$

$$(f \circ g)(x) = a + f(x) = a + \frac{1}{a}[x] = \frac{1}{a}[x]$$

$$[x] \in [a, b] \Rightarrow [x] \in \left[\frac{y}{a}\right] \Rightarrow f \circ g \in [a + \frac{y}{a}, a + \frac{1}{a}[x]] \in [a, b]$$

$$f^{-1}(x) \in [a - \frac{1}{a}[x], a]$$

1/20

10